
Příloha č. 1 - beník k s-ti a 1o-ti let'i'ch revizí zhašecího zařizení Fogmaker
ČÍslu srnlouvy trbjedt talcle. DPM}l2o22t'l ot04 1

Ceník první 5-ti a 10-ti leté revize a opraw zhášecích zařízení Foemaker

VÝše se nacházení základní položkv pro první 5ti letou revizi. níže pak režíiní nákladv a seznam dalších dílů, které bv
mohlv být použitv v případě ziištění něiaké závadv.

Art.nr Popis Počet
Cena CZK za kus

bez DPH

1891 Hasícísměs/1litr 1 765,z9 Kč

t932 Revizní sada pro 5tiletou revizi/systém s iedním has,válcem L 3102,62 Kč

8105 Servisní nálepka dalsí roční revize L 11'91 Kč

8101 Servisní náleoka dalsí 5ti letó rcvizc I 22,LlKč

Sazba na hodinu oráce za 1 technika L 900,00 Kč

Cena rni'iezd technika do 100km 1 1 000,00 Kč

Výiezd technika do 200km I 2 000,00 Kč

cena za 1 km při uíiezd technika nad 200km 1 10.00 Kč

Hodiny na cestě za 1 technika 1 200.00 Kč

Čekací doba technika za 1 technika 1 200'00 Kč

Art.nr Popis Počet
Cena CZK za kus

bez DPH

1891 Hasící směs/1litr 1 765.29 Kč

1932 Revizní sada pro 5tiletou revizi/systém s jedním has.válcem T 3102,62Kč
767 6 -00 -24 (r6s6 -OO-24" Detekční nádoba nap|něná a natlakovaná s T-konektorem L 8 292,09 Kč

767 7 -OO -24 (1657 -OO -24" Detekční nádoba naplněná a natlakovaná s L_konektorem I 7 738.98 Kč

8105 Servisní náleoka dalsí roční revize L 11,91 Kč

8101 Servisní nálepka dalsí sti leté revize 1 22,IIRč
Úěa <a náaltá'Fii 

'
arlní nalaikv nrn rlrlrhnlr qii letrll revízi detpkřní láhcv nak ltrrle notržitá Fn iedna r

Sazba na hodinu práce za 1 technika 1 900,00 Kč

1 000.00 KčCena výiezd technika do 100km 1

Vúiezd technika do 200km 1 2 000,00 Kč

cena za 1 km oři výiezd technika nad 200km 1 10,00 Kč

Hodinv na cestě za 1 technika I 200,00 Kč

1 200.00 KčČekací doba technika za 1 technika

1005 Mini fire suopression cvlinder excl. detector tube, hvdraulic hose, p 15 015,01 Kč

1008 Extinguisher Novec with 14 bar pressure switch Lt2M'74Kč
1310 2.5 m aďuation wire incl. securitv stoo and clamos 5 445.47 Kč

1311 6 m actuation wire incl. securiw stop and clamos 4367 '32Kč
1312 10 m actuation wire incl. securitv stoo and clamos 5 981,85 Kč

1316 Manual actuator detector tube T-coupling 3 203,55 Kč

1319 Wiresplit for 2 actuation wires 1 659,50 Kč

537'85 Kč132t Safetv interlock large for wire handle

Protection for wire handle -heaw dutv 1 991.19 Kč7322
737r Lisht Cover sinsle PA 6.51 L=750mm, t=2 mm 2797,o7 Kč

7372 Lisht Cover double PA 131 L=750 mm, t=2 mm 2 930,20 Kč

r373 Lisht Cover triple PA 19.51 L=750 mm, t=2 mm 4570'87 Kč

1500 Sprav nozzle 7/4" F4O.8l/min at 30 bar 2 061,59 Kč

2 051.59 Kč1501 Sprav nozzle 7/4" F6I.2llmin at 30 bar
Protection caD for 150X nozzles red ínot flushed) 108.29 Kč1505

1510 Plus for cuttins rins fittinss 103.37 Kč

1530 Mount kit 2 sinsle extlnsuishers 3 331,41 Kč

1656 Hvdro-pneum. detector bottle 31 bar with 14 bar pressure switch T 6 343,66 Kč

1657 Hydro-pneum. detector bottle 31 bar with 14 bar pressure switch L 6745,o2Kč
ootical smoke deteďor incl' erill' sisn' lens.lamo. buzzer 8 128,95 Kč1744

7750 Buzzer 3-28 VDC 95 dB 247'78Kč
1751 Alarm siren 9-30V 3 002,98 Kč

1760 Optical alarm strobe red 10-32VDC/2W with mount 2 568'18 Kč

Arl.Nr.: Ceno ber DPHPopls

NÉe kompletní ceník všech dílů Fogmaker

1/2



Příloha č' 1 - Ceník k s-ti a 'lo-ti let'ých revizí znašecího zařízení Fogmaker

Číslo smlouvy obiednatele: DPMol2o2zn olo41

7770 Low la z4v Íorvehicle dashboard red lens

Warn la Red 24V

758,28 Kč

zz3,9LKč
7772

7796 socket 702,67 Kč

1800 Fi tool for fire su linder G Iz746,35Kč

1AO7 tool Su r 35 mm - Stainless steel z952,94Kč

1808 tool R8 77544,12Kč

1809 tool - Detection tube 356,53 Kč

1816 Fixture for 21 098,88 Kč

1818 Kit for new service r47 969'77Kč

1819 for nozzle 2 654,58 Kč

1820 tool for nder cover 3 045,07 Kč

782t Protection tool h valve I z44,I7 Kč

1890 0'C 25 liters 5 823,94 Kč

1891 -35'c 1 liters 765'z9 Kč

1896 -35'C Alcohol resistant 25 liters 18 987,98 Kč

1929 Refill kit n accumulator 5 times excl 852,19 Kč

1930 Revision kit E si accumulator 6 968,43 Kč

1931 Revision kit M n accumulator 3 389,04 Kč

L932 Revision kit HP accumulator 3Lo2'62Kč

1933 Revision kit E double accumulator 12 886'11 Kč

1934 kit M double accumulator 7 032,56 Kč

1935 kit HP double accumulator 7 480,86 Kč

1950 Hand 6 55A 2338 C 5 115,05 Kč

7957 Foam 6L27A7448 -30'c 7 379,26Kč

1970 for of the detector bottle 3 136,50 Kč

1975 Gas kit excl. 9 615,14 Kč

2732 screw with ss 100,92 Kč

2400 3.3 I 9z9,48Kč

2402 4 I exti 874,61 Kč

2403 6.5 I r 1 193,13 Kč

2405 Assemblv fittine/ Bracket 7.5 I extinguisher 1 534,64 Kč

2470 Bracket for 151 mm 585,88 Kč

2413 Bracket for 178 mm 716,46Kč

z4r4 Bracket for Pipe @25 Heavy DutY Gummi Stál 1 141,03 Kč

2415 Bracket for Pipe 035 HeavY DutV Gummi stál 1 141,03 Kč

2440 Bracket double L248,!9Kč

2447 Bracket double lower 7 272,73 Kč

2442 Plastic spacer for 2441&2444 49,33 Kč

24/3 7 444,49 Kč

Assemblv fittins triple extinguisher (lower) 2o27 '59 Kč
2444
3130 Fillins nipple 272'65 Kč

3140 Gas filling valve 961,47Kč

3150 valve 726,67 Kč

Gas detector tube Novec (Red) /m 1 203,97 Kč
4024
4050 Distribution hose 1/4" /m 378,30 Kč

4100 HP hose 0,32m straight-go Compact ------_- 4z3,2IKč

4101 hose 503,50 Kč

4702 hose 70m 551,46 Kč

4103 HP hose 590,25 Kč

4704 HP hose 20m 744,70Kč

4105 HP hosé 50m 874,99 Kč

4105 HP hose 7042,37 Kč

4ro7 HP hose 477 '3o Kč

4108 hose 811,04 Kč

4109 hose 0,75m 5z5,z7 Kč

4ITO HP hose stra stainless steel 2797,7z Kč

41LL HP hose 983,18 Kč

4772 HP hose 5m 1 170,63 Kč

4713 HP hose I46z's2Kč

4L74 hose 7925,87 Kč

4115 hose 5,5m 2544,02Kč

41.16 HP hose 2 119,11 Kč

4777 Hose double Stainless steel 3 106,31 Kč

4118 HP hose 25m 729'73Kč

4rL9 HP hose 3 282,36 Kč

47ZO HP hose 7 682,29 Kč

4121- hose 90-90 8z7,7IKč

4LZZ HP hose I216'09 Kč

4723 HP hose 1 460,14 Kč

4724 H P hose 7 m z95L,9zKč

4LZ5 HP hose 1 800,00 Kč

2/2



Přiloha ě. 1 _ Ceník k s-ti a '1o-ti lebich revizí zhašecího zařízení Fogmaker
Číslo smlouvy objednatele: DPM3 t2o22t7 ol o41

4726 HP hose 1,00m straiRht-straisht 609,30 Kč

4727 HP hose 2,7m straight-90 1 306,37 Kč

4728 HP hose 4.2m straiPht-straisht 1 844,90 Kč

4729 HP hose 8.0m straisht-90 z724'44Kč
4131 HP hose 0,55m straight-90 stainless steel 2 802.40 Kč

4732 HP hose 0,70m straight-90 stainless steel 2 850,88 Kč

4733 HP hose 0.72m straisht-90 57o,52Kč
4134 HP hose 3,4m straisht-go 1 703,04 Kč

4135 HP hose 5,7m straiqht-9O 2 423,24Kč
4r36 HP hose 8,35m straight-90 z8z7,9L Kč

4137 HP hose 0.24m 90-90 438'52Kč
4138 HP hose 3.8m straiaht-go 77zo,L4Kč
4139 HP hose 4,7m straisht-90 272o,3LKč
4740 HP hose 5,0m straisht-gO zz47,I5Kč
4141 HP hose 5,5m straight-go 23a732Kč
4742 HP hose 7.5m straisht-90 3 L42'79 Kč

4143 HP hose 8.5m straiPht-go z898,44Kč
4144 HP hose 7,0m 90-90 2 986,86 Kč

4745 HP hose 4,5m straisht-90 27z8,7zKč
4746 HP hose 4,8m straieht-90 zo7a,26Kč
4147 HP hose 6,7m straight-90 2 810,96 Kč

4748 HP hose 0.87m straiPht-90 867,25 Kč

4749 HP hose 1.65m straisht-90 907,55 Kč

4150 HP hose 0,20m straisht-90 375,64 Kč

4151 HP hose 4,2m straight-90 1 869,42 Kč

4752 HP hose 1,40m straight-straight 824,86 Kč

4153 HP hose 1.50m straisht-go Comoact 873,91 Kč

4154 HP hose 2,5m 90-90 1 336,45 Kč

4155 HP hose 1,00m straisht-90 658,06 Kč

4156 HP hose 2,7m straight-straight 1 257,96 Kč

4158 HP hose 5.8m straisht-straisht z 423'06 Kč

4159 HP hose 6,1m straisht-straisht 2563'22Kč
4160 HP hose 6,0m straisht-90 2 573,73 Kč

4162 HP hose 5,8m straight-90 z 444,68 Kč

4163 HP hose 3,4m 90-90 I646'23 Kč

4764 HP hose 7,5m straisht-straisht 3 062,82 Kč

4165 HP hose 0,40m straight-90 448,7zKč
4166 HP hose 1.90m straisht-90 1 009.37 Kč

4767 HP hose 1,90m 90-90 7 740,92 Kč

4168 HP hose 1,10m straipht-go 747,oaKč
4169 HP hose 3,2m straight-go 7571"72Kč
4170 HP hose 7.0m straisht-90 3 184.61 Kč

4177 HP hose 7.1m straisht-go 2970,29 Kč

4I72 HP hose 7,2m straisht-90 3 133,92 Kč

4173 HP hose 3,5m straight-90 1 594,86 Kč

4r74 HP hose 0.32m straiPht-straisht 355.87 Kč

4776 HP hose 1.40m straieht-9o 827,92Kč
4777 HP hose 1,00m 90-90 674'z8Kč
4779 HP hose 0,65m straight-go Compact 563,37 Kč

4181 HP hose 0,70m 90-90 663,05 Kč

4r82 HP hose 1,20m straight-90 stainless steel 3 009'64 Kč

4183 HP hose 1.60m lR-lR 1 106.33 Kč

4184 HP hose 10.0m straisht-90 3 500'37 Kč

4185 HP hose 8,5m straisht-straisht 2887,45Kč
4186 HP hose 6,3m straiRht-straiRht stainless steel 3 301,36 Kč

4787 HP hose 4,5m straight-straight stainless steel 3 159,78 Kč

4188 HP hose 3,5m 90-90 180deg stainless steel 3 096,39 Kč

4189 HP hose 5.1m straisht-go z 470'53 Kč

4190 HP hose 0.20m straisht-straisht 377'28Kč
4Z4A Bulk head connector detector tube 20 mm 663,73 Kč

4249 Support sleeve for detection tube 60'22Kč
4250 Detection tube coupling R6-1/8 728,26Kč
4253 Detection tube T-coupline T6-1/8-6 354,15 Kč

4254 Detection tube couDlins SR L6-1l8 207,74Kč
4255 Detection tube straisht couolins 6mm - 6mm 259,91 Kč

4256 Detection tube T-couolins 4o8,z4Kč
4260 Vacuum eiector 1 621,05 Kč

4297 6 rnrn orotective coil 1.0nr /unit 141'86 Kč

4292 6 mm Drotective coil 2.5m /unit 313,66 Kč

4294 6 mm protective coil 4,5m /unit 454,85 Kč

4295 6 mm protective coil 5m /unit 513,02 Kč

3/2



Příloha č' 1 - ceník k 5-ti a 'lo-ti lehi'ch revizí zhašecího zařízení Fogmaker
Číslo smlouvy objednatele: DPMOl2o22n 0l041

4296 mm coil 6m /unit 631,41 Kč

4297 mm rotective coil 7m nit 745'38 Kč

4298 mm coil 8m nit 879,08 Kč

4300 EVLSL 430,01 Kč

4301 -con nector 1/4" UFXUFXUF 259,91 Kč

4302 connector lRxlRxlR 476,96Kč

4303 -co nnector UFxUFxIR 608,28 Kč

4304 UFxl F 7zI,45 Kč

4305 Bulk head connector hose ufxuf Í12,27 Kč

4305 Sleeve 1/4" 46,27 Kč'

4308 Elbow 4sd UFxIR 191,53 Kč

4309 Elbow n 90 UFxIR 188,81 Kč

4313 Adaoter 1/4" male -1l8" female 69,74Kč

4316 F 7/8" F 52,05 Kč

4318 N 3/8"uf - uf 55,45 Kč

432L 81,65 Kč

43ZZ Ni OT IT 79,95 Kč

4323 Ni OT IR 153,09 Kč

43At T-connector 1/4" UFXUFXUF Stainless Steel 936,91 Kč

4385 Bulk head connector Stainless steel 563,77Kč

4386 Sleeve 1/4" Stainless steel 169,08 Kč

4396 Sleeve Stainless steel 453,15 Kč

4400 connector 81,65 Kč

4407 Equal Tee 8x8x8 z7a'28Kč

4402 Straisht connector 8x8 93,90 Kč

4403 Stud Branch Tee 8x1/4"x8 taPered 423,55 Kč

4404 Nozzle connector gxll4" lF 113,29 Kč

4405 Bulkhead connection piping 8x8 194,59 Kč

4406 Bulkhead 90 degrees elbow 8x8 423,55 Kč

4408 Equal cross 8x8x8x8 7 777,37 Kč

4409 Eoual 90 degrees Elbow 8x8 2I7 '73 Kč

4430 Distribution Nipple Mini Suppressor FSS 314'00 Kč

4452 Equal 90 degrees Elbow 8xB Stainless steel 511,66 Kč

4465 Straipht connector 8x8 Stainless steel 281,35 Kč

4466 Straisht connector 8x1/4" 60" cone sealing Stainless steel 270,80 Kč

4467 T-connector 8x8x8 Stainless steel 662,03 Kč

4468 T-connector 8x1/4"x8 Stainless steel 712,38 Kč

4469 Nozzle connector 8x1/4" F Stainless steel 44I,9zKč

4490 8 mm cutting ring 13'27 Kč

449L Nut for 8 mm cutting ring 17,69 Kč

4492 8mm cutting ring Stainless steel 55,11 Kč

4493 Nut for 8mm cuttinq ring Stainless steel 84,03 Kč

4502 Nozzle replacement filter (Old M4 nozzle) 356,53 Kč

4503 Nozzle Protection Cover (OLD NOzZLE) 2s7'68Kč

4601 Press sleeve 1/4" Stainless steel 426,6IKč

4604 Connector 1/4" FxM Stainless steel 732'71'Kč

4605 Bulkhead connection piping SxBmm Stainless steel 592,63 Kč

4607 Nipple 1/4" UFXUF Stainless steel 196,64 Kč

4608 Equal cross 8x8x8x8 Stainless Steel 1 414,55 Kč

4609 Elbow nioole 90 desrees 1/4 UFxIR Stainless steel 1 635,00 Kč

4610 Press couoling BSP G 1/4"-19 Straight-lR Stainless steel s44'32Kč

4677 Press coupling BSP G 3/8"-19 StraightlR Stainless steel 818,52 Kč

46t3 Press coupling BSP G 1/4"-19 9011R Stainless steel 712,04Kč

4716 -connector for conduit mm 70,92Kč

4740 interface conduit 57,74Kč

4747 connector inteďace protection conduit 2_pol angle 81,26 Kč

4749 Joint interface protective conduit straight 78,59 Kč

4750 Kit protective cover detection tube 145,61 Kč

4762 Protection Cap Silicone Actuator Pressure Eauge 053,5x50 187,45 Kč

4763 Protection Silicone r Pressure L72,67Kč

4764 Protection Silicone Button Punch 98,72Kč

4765 Protection Cap Silicone Detectormanometer O20,6x25,4 45,93 Kč

4801 Press sleeve 1/4" 39,7zKč

4810 Press coupling BSP G 1/4"-19 Straight-lR 56,81 Kč

4811 Press BSP G -19 83,69 Kč

4872 Press BSP G "-19 45'-lR 112,95 Kč

4813 Press couolins BSP G 1/4'-19 90'-lR 113,63 Kč

4815 Press coupling BSP G 1/4"-19 90'-lR Compact 87,77 Kč

4906 Ball valve detector nder 244,94 Kč

4926 Solenoid valve NO 24VDC 8 568.50 Kč

s005 Steel rubber washer 1/8" 9,87 Kč

4/2



Přiloha č. 1 -beník k s-li a 1o-ti let'ých revizi zhašecího zařízení Fogmaker
Číslo smlouvy objednatele: DPMot2o22non41

5009 Copoer washer (f. oressure switch) 34'o2Kč
5011 Aluminium washer 6-10 X 1 8,51 Kč

5015 Washer 5,3/10/1 Stainless steel 3.05 Kč

5018 Washer 8,4X15X1,6 A2 3.05 Kč

5040 Nioole for fillins tool male 16 bar 228'27 Kč

5041 Quick release female connector to fillpump 3/8" 2 098,69 Kč

5049 Plue 1/8" 29.94 Kč

5050 PlucU4", Brass Ni plated 35,38 Kč

5052 Protection cao M6 2'49 Kč

5101 Fastenins clamps 140-160 (For consoleclamps) 202,76 Kč

5104 Clamps detection bottle SS 60-80 mm 222,49 Kč

5105 Heaw dutv clamp for 151 mm piston accumulator 350'51 Kč

5109 Bracket detector cylinder kit for 151 mm cylinder 2527.ol Kč

5110 Fixins oin extinsuisher 79'67Kč
5111 Bracket detector cvlinder 5 desree 596,37 Kč

5115 Clamp for detector bottle on double cvlinders (2 pcs needed/bottle 1 058,36 Kč

5201 Screw M5x12 6,46 Kč

3202 Screw M4x16 stainless 5,10 Kč

5209 Screw Hexason Socket M6X16 MCSS ISO 4762 A2 4.28Kč
5222 Locknut M6 2.72Kč
5223 Lock nut M5 stainless steel 3,40 Kč

5225 Pop nut/rivet nut M8 steel 34'70Kč
5226 Pop nut/rivet nut MO steel 2o'o7 Kč

5240 SS sheet screw for clamp 5314 4,8x16 ISO 7049 3.40 Kč

5Z4t Screw 5.5x25 red (250ocs/oack) 16.33 Kč

5245 Self-tapoins M8x20 screw 14'97 Kč

5246 Screw, Self tappins M6x15 6,80 Kč

5252 Screw M5X20 RF A2 POZI 4,08 Kč

5261 Hexasonal Stainless steel screw M8x12 A2 9.53 Kč

s306 Brace/clamos 6/15 W4 29'94Kč
s308 Brace/clamps 8/75W4 31,30 Kč

5310 Brace/clamps 10/15 W4 48,31 Kč

5372 Brace/clamos 72/ISW4 51.03 Kč

5314 Brace/clamos 74175W4 49.33 Kč

5318 Brace/clamps t8/75W4 49,33 Kč

s320 Brace/clamps 20/LSW4 51,71 Kč

5322 Brace/clamos 22115 W4 59.19 Kč

s330 Brace/clamps 30/15 W4 54,77 Kč

5384 Straight bracket Stainless Steel 135 mm I29,2aKč
5385 L-Bracket Stainless Steel 50 x 50 136,42Kč
5386 L-Bracket Stainless Steel 50 x 100 200.38 Kč

5387 L-Bracket Stainless Steel 50 x 150 233,04 Kč

5389 Bracket Parallel Stainless Steel 90 x 380 B=25 387,05 Kč

5396 Bracket 90,98 Kč

5397 L-Bracket Stainless Kit 5 pcs 862.07 Kč

5399 Clip 2-4 mm a4,7IKč
5500 o-ring NBR piston/lid 151 124,5x3,0 74'29 Kč

5501 O-ring NBR piston/lid L57 723,42x3,53 40,74 Kč

5502 O-rins NBR 143x3.0 oiston/lid 178 mm 30.95 Kč

5504 O-rine NBR old lid 8.1x1.6 4,08 Kč

5505 O-rins NBR 15,1x1,6 sas adaoter valve 11,57 Kč

s507 O-rinA NBR under valve 8,73X1,78 1'36 Kč

5509 O-ring NBR 10,82x1,78 gauge angle piston accumulator 3'74Kč
5510 O-ring NBR high pressure piston 4,1x1,6 3,74Kč
5513 O-rins NBR manometer detection cvlinder and 1315 6.75x1.78 3'74 Kč

5515 O-rins NBR sas oiston 10.1x1.6 old valve 3.06 Kč

5516 O-rins NBR 79,7x7,6 nipole/sas bottle z,o4 Kč

5517 O-rinA NBR pressure gauge/niople 14,1x1,6 7,ozKč
5518 O-rins NBR 16,3x2,4 fillins nipple 1,70 Kč

s520 Membrane 14 mm for S/N <30605 pre 2009-04 5'10 Kč

5522 O-rins Viton for nozzle 9.10x1.5 47.29 Kč

5523 O-rins NBR 12,1x1,6 for valve low oressure oiston 3'74Kč
ssz4 O-ring NBR 8,0x3,0 rising tube sas bottle 1,70 Kč

5525 O-rins NBR 5,3x2,4 fillins tool 3,40 Kč

5527 O-rins NBR 15,3x2,4 fillins tool 4,76Kč
5529 O-rinp NBR 6.1x1.6 for 1315 and 3140-30 4.08 Kč

5530 o-rins NBR 7.1x1.6 foÍ 1315 4.08 Kč

5532 O-rins NBR 85,34x1,78 for 6951 16,33 Kč

5534 O-rins NBR 6,0x1,2fo. 4717 12'97 Kč

5535 O-rins EPDM 70 Perox 10.0x1.5 9.81 Kč

5536 O-rins EPDM 70 Perox 5.5x1.5 3.15 Kč

5/2



Příloha č' 'l - Cenik k 5-ti a 1o-ti letlich revizí zhašecího zařízení Fogmaker

Číslo smlouVy ob.iednatele: oPMol2o22n u041

EPDM 70 Perox 78 3,06 Kč

5539 NBR for 1800-10 3,40 Kč

s504 Stainless steel rubber washer M6 29'94Kč

5605 steel rubber washer 29,60 Kč

5606 steel rubber washer 37,4zKč

s910 seal 2,04Kč

s9z7 isa 6 22,45 Kč

5923 for 43,12Kč

6035 Pressure relief valve 138 Bar 7974'78Kč

6040 Ball to ref.nr. 6035 202,08 Kč

6204 tool detector er 59,88 Kč

6206 Pressure 6 mm connection for detection tube con 976,03 Kč

6303 T-handle red with text " 194,93 Kč

6310 wire hand m 2781'48Kč

6315 wire no handle 6m 1 367,51 Kč

6316 wtre ha 10m 3 092,13 Kč

6319 activation wire 49,54Kč

6323 Endsleeve Swivel M6-thread for wire 245'28Kč

6325 Elbow to the activation wire M6x20 382'77 Kč

6330 for 2 activation wires 350,70 Kč

6331 Wire lock for double wire 265,36 Kč

5340 for the wtre 199,36 Kč

6345 Wire safetv bracket large 58,17 Kč

6602 Pressure Switch 14 bar black cable 1446,79 Kč

6603 Pressure Switch 5 bar red cable 1 451,63 Kč

5810 lnstallatinn cable 4-wire 0, mm2 70É9 Kč

41,80 Kč
6811 lnstallation cable 2-wire 75 mmz

6872 lnstallation cable 7-wire /5 mm' 139,00 Kč

6823 Connectors for accumulato. 657,61 Kč

2646,77 Kč6825 Su rseal Dubble

6826 Cable Convert Novec to Mini FSS 536,74Kč

6902 Contact Pin 6.3 mm uninsul. female 1.5-2.5 mm2 6'42Kč

6903 Contact pin 6.3 mm insul. female 1'5-2.5 mm2 8,51 Kč

6904 Crimo rins terminal insulated M8 blue 1.5-2.5 mm'z 6,80 Kč

6905 lsolation sleeve for 6.3mm flat pin 8.20 Kč

6907 Wire pin terminal 0,5-1,5 mm2 Red 4'76Kč

5909 lointins sleeve 0.5-1.5 mm2 red 4,42Kč

6910 Fuse holder 183,37 Kč

6911 Fuse holder 287'97 Kč

6972 Fuse 5A 77,o7Kč

69r4 Fuse holder 83,35 Kč

6915 Cable inlet for fuse holder 6911 18,53 Kč

6916 Cable gland for fuse holder 6911 13'27 Kč

6917 MountinB plate double hole 6911 46,27 Kč

695s Activation box with button 3 339,63 Kč

6959 Screw fittins M20 lP68 8-13 mm to 6955 54,09 Kč

6966 Svmbol disc red "Warning" 63,28 Kč

6967 Svmbol disc yellow "Warning" 747,55 Kč

6968 Svmbol disc black, no svmbol 75,52Kč

6972 Svmbol disc red "Engine Fire" 64,64Kč

6975 Connector for pin 8-pol 72'46 Kč

6976 Connector for pin 2-pol 19,39 Kč

6979 ble control 24v INSE 590,25 Kč

6981 3 tabs 43,89 Kč

6982 3 39,80 Kč

6983 Connector 2 tabs 39,46 Kč

6984 Connector 2 33,00 Kč

6985 Connector 1 tab 49,33 Kč

6986 7 65'22Kč

6987 seal for 6981-6986 2.5-3.3 mm Red 7,48Kč

6988 for 6981-6983-6985 16-20 7-1.5 mmz 8,51 Kč

6989 for 6982-6984-6986 16-20 7-1.5 mm2 10,50 Kč

6992 Red button with cover 7 478,17 Kč

6993 Red actuator button for electric actuation 2 986,96 Kč

7031 Detector red -30'C 1 liter 613,36 Kč

7032 Detector id red -30'C 5 liter 27z2,o7Kč

7032 za 50 ml uid red -30'C 50 ml 2I,z2Kč

7033 red -30'C 0.25 liter 27L,8zKč

7014 Detector red -30'C 0.15 liter 234,74Kč

7704 Rubber M8x20 @30 L=20 dam to Volvo 2oo,z3Kč

7709 L=30 to ScaniaRubber da M8x23 155,52 Kč

6/2



Pilloha č. 'l _ Ceník k s-ti a 'lo-ti let'ých revizí zhašecího zařízení Fogmaker
Číslo smlouVy objednatele: DPMot2o22t7ot041

7903 Loctite 5400,50 ml zoz7,47 Kč

7907 Molykote 111 C 100s 3 072,76 Kč

7908 lndustrial Gas resulator Nitroaen 0-40 bar 26 413'73 Kč

7970 Gas fillins kit incl. sas regulator 38 804.35 Kč

79I3 Molykote P40 L 277'79 Kč,

79ZO Loctite 8009.453s 3 011,79 Kč

8100 Label Piston accumulator Serial no. ENG 38,78 Kč

8101 Label Piston acc. Next 5-vear-service ENG-SWE-DEU-ESP z2'7LKč
8104 Label Piston accumulator/Protection box -Warning ENG 24'75 Kč

8105 Label for 8100 Year marker Next Annual control 11,91 Kč

8106 Label for 8100 Marker freeze point extinsuishant 20,7s Kč

8107 Label f valve Gen. 1 "Safetv screw" ENG 17,oLKč
8772 Label/Sticker "Novec 1230 Fire suppression system" 54.09 Kč

8115 Label round Vellow for bottom ofAlR+FUSE-ext 16,33 Kč

8116 Label pictosram alarm fire (red lisht) fauk (yellow licht) 252,09 Kč

8118 Label for switch orotection 6993-2-I 77,78Kč
8722 Label/Sticker oackasins "Warnins Pressure cvlinder" ENG DEU ESP I 10,21 Kč

8133 Seal label with oerforation f actuation switch 6992 114,99 Kč

8737 Label Suopression liquid 1837 Fosmaker Eco 1 18.89 Kč

8190 Label Piston accumulator "CE-mark & pressure test" ENG 11.23 Kč

8193 Label/Sticker E5 R107 21'09 Kč

8195 Label FIA EX.047.18 Extinsuishant -35 sinsle cvlinder 3.3 lit II,z3Kč
8196 Label FIA EX.048.18 Extinsuishant -35 double cvlinder 8 lit II'23 Kč

8197 Label FIA EX.047.18.EXT001 Alc Res -35 sinsle cvlinder 3.3 lit 17,46Kč
8198 Label FIA EX.048.18.EXT001 Alcohol res -35 double cylinder 8 lit 18'89 Kč

8201 Label/Sticker Emergencv "E" FIA 82'67 Kč

8ZO7 Label "Warnins contains sas" ENG-DEU-ESP-FRA-NLD-SWE-FlN 28'92Kč
8208 Label/sticker Fosmaker logo 10x3 black 47,L6Kč
8220 Sticker Detector tube Pictogram 74.97 Kč

azz3 Label for connection hose (4117) on double/triple extinguishers z7 'zzKč
4224 Plate Manual actuator Pictosram 81,99 Kč

a2z5 Sticker/Decal Hand extinsuisher Pictogram 22o,I7Kč
8301 Plate "ln case of fire" Mec SWE 47I'a6 Kč

8306 Sisn "ln case of fire" Auto SWE 155,81 Kč

8309 Plate "Smoke Alarm Uooer deck" ENG 324,27Kč

8315 Plate "Ensine fire" ENG 77z'a2Kč
8318 Plate "Activation of fire suppression system - Engine room" Pictogra 479.47 Kč

8319 Plate "Aďivation of fire suporession svstem _ driver area" PictoAran 479'47 KČ

8427 Label/sticker ''Díivers info" SWE 66,68 Kč

8423 Label/sticker "Safetv screw" ESP z7,o9 Kč

8426 Label/stickeÍ "ln case of fire" semi_auto sWE 32,32Kč
8435 Label/StickeÍ ''Detector sas cVlinder'' ENG 84,37 Kč

8436 Label/Sticker "Drivers info" Mec SWE 14,63 Kč

8472 Plastic washer "No sas" ENG 18,71 Kč

8474 Label f button 6970-05 Pictogram 68.38 Kč

8479 Decal Fosmaker losotvoe White 300mmx100mm 487,77 Kč

8480 Decal Fosmaker losotvoe Black 300mmx100mm 487,17 Kč

8481 Decal Fosmaker loso + "HPWM" Black 350mmx100mm 504,86 Kč

8931 Cable tie L=100 B=2,5 black 1,43 Kč

8935 Cable tie L=200 8=4,6 black 2'72Kč
8938 Cable tie L=380 8=7.6 black 9,53 Kč

8939 Cable tie L=300 B=12,5 black 31,98 Kč

9000 FoRmaker customer meeting carryina case 21 438,84 Kč

15010 Sprav nozzle 7/4" F78 3.5 l/min at 30 bar SBF 128 2 061,59 Kč

40380 Fogmaker hvdro-pneum. detector tube (3,8/6) translucid / meter 352.79 Kč

4704L HP hose 1,20m straight-straight 676.66 Kč

47732 Protection condult Fopmaker 8.4/77.7 mm red /m 60'74Kč
47752 Protection conduit Fosmaker 10/13.4mm red /m 84,10 Kč

51081 Holder kit for detector bottle, wall mount 1 165,19 Kč

69561 Connection Box 110x110x65 lP65 SWE 1 078'43 Kč

69564 Screw fittinq with nut M20 lP68 10-14 mm for 69565 50.69 Kč

69565 Connection box 110x110x65 lP65 complete 2 058'55 Kč

59811 connector íMALE} 3 tabs comDlete with contacts and sealing 128.60 Kč

6982r Connector (FEMALE) 3 receotacles complete with contacts and sea 118,73 Kč

69831 Connector 2 tabs complete with contacts and sealing 108,18 Kč

69841 Connector 2 receptacles complete with contacts and sealing 106'48 Kč

69442 Connector 2 receptacles complete with contacts and sealing with 8: 142,88 Kč

79077 Molvkote 111 C 1ks 20 745'4s Kč

81005 Label Mini Fire Suppressor (MFSS) - Serial no. ENG 189,83 Kč

83061 Sisn ln Case Of Fire: Auto - Pictogram 107.50 Kč

83062 Sign ln Case Of Fire: Manual - Pictogram 107,50 Kč

al)



Přiloha č' 1 - Ceník k s-ti a 'lo-ti letých revizí zhašecího zařízení Fogmaker

Číslo smlouvy ob1ednatele: DPMol2o22l7 ol 041

695510 Connection box for alarm Panel 230x140x95 I P66167 comPlete 2147,34Kč
15 11005-ArR Mini FSS AIR excl. gas, detector tube, hvlfgy-lg ir9:9r!I9!9!!19!19

N ressure ressurized for Air fre 10 z
1008-ArR

1012-01 Bottle with for detector tube 4 280,00 Kč

1030-020 3.31 Mechanical actuation 25 584,17 Kč

1030-047-020 Exti isher 3.31 Mechanical actuation FIA EX.047.18 2s 023,47Kč

7030-047-o7-oz0 Exti isher 3.31 Mechanical actuation FIA EX.047.18 EXT.001 23934'77 Kč

1031-02-030-M 3.31 mod. 32Io2'97 Kč

1032-02-030 3.31 mod. 237z3'o9 Kč

1032-02-030-TF 3.31 mod 26 25o,L2Kř

3.31 H.P.actuation Pressure switch for Air 24sr71032-02-030-TF-Al R

1040-02-030 4L mod 30 441,66 Kč

1041-02-030-M 4L mod for Metron 34 219,58 Kč

1041-02-030-M-AlR 4L mod. for Metron 32346,22Kč

L04Z-O2-O30 Exti r4L mod. 28735,84Kč

1042-02-030-AlR 4L HP mod. 24664,22Kč

1042-02-030-TF 4L mod. 26 601,09 Kč

1042-02-030-TF-Al R 4L H.P.actuation Pressure switch and 23 666.58 Kč

34 358'50 Kč1042-02-08-030 4L H.P.actuation UL-Listed

1060-02-030 6.51 mod. 34 080,45 Kč

1051-02-030-M 6.51 mod Not for Metron 38 606,14 Kč

1061-02-030-M-AlR 6.51 mod. for trai Metron 33 837,43 Kč

1062-02-030 Exti 6.51 H mod. 31 756,54 Kč

1062-02-030-AlR EMPTY 6.51 mod. z8797,36Kč

1062-02-030-R107 6.51 mod. R107 31 756,54 Kč

1062-02-030-TF 6.51 mod 31 533,14 Kč

1062-02-030-TF-Al R 6.51 H.P.actuation Pressure switch and 28 314,85 Kč

37 306,05 Kč1062-02-08-030 5.51 H.P.actuation UL-Listed

1070-02-030 Extinsuisher 7.51 M/PS/Sig. mod. 35 168,74 Kč

1071-02-030-M ExtinRuisher 7.51 E/PS/Sig. mod. (Not for trains) Metron 41 007,98 Kč

7072-O2-O-030 Extinsuisher 7.51 HP/PS/Sic. mod. 0'C 31 179,61 Kč

LOTZ-OZ-O30 ExtinAuisher 7.51 HP/PS/Sig. mod. 33 929,56 Kč

1072-02-030-AlR Empty Extinguisher 7.51 HP/PS/Sig. mq!!. 29 958,01 Kč

1072-02-030-R107 7.51 mod. R107 33 929,56 Kč

1072-02-030-TF 7.5L mod. 33 705.94 Kč

1072-02-030-TF-Al R Emptv Extinguisher 7.5L HPlPS/ÍFlSic. mo!. 30 066,03 Kč

1072-02-08-030 Extinsuisher 7.51 H.P.actuation UL-Listed 39 548,53 Kč

11120-02-030 Piston accumulator 11.5L M/ÍVlSig. mod. Temp fuse 178 mm 45 498,62Kč

11121-02-030-M Piston accumulator 11.51 E/TV/S|g. mod. Temp fuse 178 mm 54 578,50 Kč

11121-02-030-M-AlR Empty Piston accumulator 11.5L E/TV/!]8.Ír'9q.]9rr'_Pl9--1Z 46 718,53 Kč

77122-O2-O30 Piston accumulator 11.51 HP mod fuse 178 mm 46 419,15 Kč

11122-02-030-AlR Piston accumulator 11.51 H mod. fuse 178 47 L34,7zKč

77122-02-030-R707 Piston accumulator 11.51 HPIPS/Sig' mod. Temp fuse 178 mm 46 419,16 Kč

1151-02-030-M Piston accumulater 6L E/PS/Sig. mod' Temp fuse 178 mm 44 4!9,32Kč

1162-02-030 Piston accumulator 6L HP/PS/Si9. mod. Temp fuse 178 mm 33 208,46 Kč

1162-02-030-AlR Emotv Piston accumulator 6L HP/PSliie' mod. Temp fuse 178 mm 30 319,84 Kč

1162-02-030-R107 Piston accumulator 6L HP/PS/Sig. mod. Temp fuse 178 mm 33 208,46 Kč

1192-02-030 Piston accumulator HP mod fuse 178 mm 46 518,95 Kč

39 683,76 Kč1192-02-030-AlR Piston accumulator 5L HP mod. fuse 178

7232-OZ-O30 Extinsuisher 6.61 HPlPS/Sig. mod. 49 967,44Kč

1232-02-030-AlR EMPW 6.61HP mod 46 892'32 Kč

1240-02-030 8L mod. 53 589,72 Kč

1240-02-030-AlR E Exti 8L mod 49 249'62Kč

7240-O48-OZO 8L Mechanical actuation FIA Ex'048.18 51 262,50 Kč

rz40-o4a-o7-ozo Extinsuisher 8L Mechanical actuation FIA EX.048.18 EXT.001 Alcohc 45 903,19 Kč

1241-02-030-M Extinsuisher 8L E/PS/Sig. mod. (Not for trains) Metron- 56 516,13 Kč

L242-O2-O30 8L mod. 50 343.08 Kč

1242-02-030-AlR Em 8LH mod 47 864,7zKč

12432-02-030-TF-Al R EMPTY 121 H 66 374,7zKč

1260-02-030 131 66290,24Kč

1261-02-030-AlR Exti 131 mod ot for trains Metron 62 189,69 Kč

1261-02-030-M Exti 131 mod. for trai Metron 69 357,99 Kč

1262-02-O30 isher 131 H mod. 63 755,46 Kč

1252-02-030-AlR PTY 131 HP mod 57 678,08 Kč

1262-03-030 131 2x6,51 HP mod. 70 870,75 Kč

1270-oz-030 151 mod. 89 091,58 Kč

1271-02-030-AlR E 151 mod for Metron 67 253'29 Kč

1271-02-030-M 151 mod ot for Metron 7I776'88Kč

7272-OZ-O30 151 H mod.Exti 65 500,97 Kč

1272-02-030-AlR 151 H mod. 58 306,03 Kč

12731-02-030-At R mod.zz.5L for Metron 88 452,85 Kč

8/2



Příloha ě. 1 'ceník k s-ti a 1o-ti leých revizí zhašecího zařízení Fogmaker
Č]slo smlouVy obiednatele: DPMol2o22l7ol041

12731-02-030-M Extinsuisher 22.51 E/PS/Sie. mod. (Not for trains) Metron 100 326,40 Kč

72732-O2-O30 Extinguisher 22.51 HPlPS/Sis. mod. 94 458,23 Kč

12732-02-030-AtR Emotv Extinsuisher 22.51 H.P.actuation for Air freight 84 532.90 Kč

1309-00340-00 0,340 m activation wire incl. security stop and clamps 2718'62Kč
1309-00750-00 0,750 m activation wire incl. security stop and clamps 2 885,92 Kč

7309,02270-OO 2,270 m activation wire incl. security stop and clamps 2 785,10 Kč

73LO-2 Shrink Tool for 6323 Wire end sleeve (mechanial wire) 1 325.08 Kč

1313-01 Handle kit for wire without clamps, no wire 1 875,86 Kč

1315-030 Manual actuator Heaw dutv incl cover 5 256,09 Kč

1316-05 Service kit for manual punch 1316 121,11 Kč

1316-L Manual actuator detector tube. L-couolins 3z87,47 Kč

1315-R Manual actuator detector tube, Straight coupling 3 577 '77 Kč

1317-06 Holder íshort) Mechanical actuator detection tube 217,39 Kč

7317-O7 Holder ílone) Mechanical actuator detection tube 248,35 Kč

1317-08 Holder (angle) Manual punch detection tube 138,80 Kč

1318-05-M Electrical actuator detector tube (Not for trains) Metron 5 522,30 Kč

1318-06-M Electrical actuator L=gcm detector tube íNot for trains) Metron 5 073,52 Kč

1322-0s Protection for 1316 1 570'65 Kč

1371-2-1000 Lisht Cover sinele PA 11.51 (7.51) L=1000mm, t=2 mm 5 974,zo Kč

7371-2-900 Light Cover single PA 6.51& 7.51L=900 mm, t=2 mm 3 523,62 Kč

1380-074-008 Protection Box Detector Bottle Gen 2 5 451,99 Kč

1380-151-040 Protection box 4,0 I Gen 2. Stainless steel - with labels 8 L2z,84 Kč

1380-151-055 Protection box 6.5 I Gen 2. Stainless steel - with labels 9 586,55 Kč

1380-151-075 Protection box 7.5 I Gen 2. Stainless steel - with labels 10 028,81 Kč

1380-151-080 Protection box 8L Gen 2. Stainless steel - with labels 13 462'00 Kč

1380-151-120 Protection box 121 Gen 2. Stainless steel - with labels 77 9ot,o4Kč
1380-151-130 Protection box 131 Gen 2. Stainless steel - with labels 17 108,94 Kč

1380-151-150 Protection box 15,01 Gen. 2 Stainless steel with labels 17 728,L7Kč
1380-151-195 Protection box 19,51 Gen. 2 Stainless steel with labels 274o7'37 Kč

1380-151-225 Protection box 22,5 I Gen. 2 Stainless steel with labels 229o3'7IKč
1380-178-060 Protection box 6.0 I Gen. 2 Stainless steel with labels 9 534'67 Kč

1380-178-115 Protection Box 11,5 I Stainless Steel with labels 12 515,39 Kč

1388-151-065 Protection Box 6,51 with detection tube for trucks 13 056,03 Kč

1502-010 Sprav nozzle 0.8 l/min at 30 bar F4 (incl. pink protection cap) 1 090,68 Kč

7502-O72 Sorav nozzle 0.8 l/min at 30 bar, UL F4 (incl. pink protection cap) Sti 1647,25 Kč

1503-010 Sprav nozzle 1.2 l/min at 30 bar F6 (incl. orange protection cap) 1 090'68 Kč

1503-012 Sprav nozzle I.2l/min at 30 bar, UL, F6 (incl. orange proteďion cap, l647,25 Kč

1504-010 Sorav nozzle full cone 50' 7.7 llmin at 30 bar F6 íincl' sreen orotect 1 090,68 Kč

1505-011 Protection cap for 1502-010 nozzles pink (flushed) 24,96Kč
1505-012 Protection cap for 1503-010 nozzles orange (flushed) 24.95 Kč

1505-013 Protection cap for 1506-010 nozzles purple (flushed) 24,95 Kč

1505-015 Protection cao for 1504-010 nozzles sreen íflushed) 24'95 Kč

1506-010 Sorav nozzle 3.5 l/min at 30 bar F18 (incl. purple protection cap) 1 090,68 Kč

1506-012 Sprav nozzle 3.5 l/min at 30 bar, UL, F18 (incl. purple protection ca[ 7547.z5 Kč

1550-20 Mount kit back bracket for double extineuisher 6,5-7,5 I 5 156,87 Kč

1650-00-24 Hydro-pneum. detect. cyl. 24 bar without pressure switch T-fittinB 5 861,65 Kč

15s0-00-AtR Hvdro-oneum. detect. cvl. (no sas) without pressure switch T-fittinF 5 918,91 Kč

7657-OO-24 Hvdro-pneum. detect. cvl. 24 bar without pressure switch L-fitting 5 692,11 Kč

1651-00-AtR Hvdro-pneum. detect. cvl. (no gas) without pressure switch L-fitting 5 746'55 Kč

7654-OO-24 Hvdro-pneum. detector bottle 24 barwith 5 and 14 bar pressure su 8 108,38 Kč

1654-AtR Hvdro-oneum. detector bottle (no eas) with 5 and 14 bar oressure s 8 185,21 Kč

1655-00-24 Hvdro-oneum. detector bottle 24 barwith 5 and 14 bar pressure sr^ 7 958,70 Kč

1655-05-24 Hvdro-pneum. detect. cvl, 24 bar with 5 and 14 bar pressure switch 8 933,09 Kč

1655-AlR Hvdro-pneum. detector bottle (no Aas) with 5 and 14 bar pressure s 8 689.84 Kč

16s6-00-24 Hvdro-pneum. detector bottle 24 baí with 14 bar pressure switch T 6 912,93 Kč

1656-08-24 Hydro-pneum. detector bottle 24 bar with 14 bar pressure switch T 10 087,50 Kč

1656-AlR Hydro-pneum. detector bottle (no gas) with 14 bar pressure switch 7 196,93 Kč

7657-OO-24 Hvdro-oneum. detector bottle 24 bar with 14 bar pressure switch L 6742,69 Kč

7657-08-24 Hvdro-oneum. detector bottle 24 bar with 14 bar pressure switch L 9 138,91 Kč

1657-ArR Hvdro-oneum. detector bottle (no gas) with 14 bar pressure switch 6 799,18 Kč

1676-00-24 Detector Bottle H.P. 24 bar 14 bar pressure switch T-fitting Gen 2 8 292.09 Kč

1676-AtR Hvdro-pneum. detector bottle (no gas) Gen 2. with 14 bar pressure 8 473,azKč
L677-00-24 Detector Bottle H.P. 24 bar 14 bar pressure switch L-fitting Gen 2 7 738'98 Kč

1577-AtR Hvdro-oneum. detector bottle (no sas) Gen 2. with 14 bar oressure 8 314,20 Kč

7743-OZO-Or Plus & Plav Kit 9 527 'ozKč
1746-050 Alarm panel for 1-3 press.switches 10-32 VDC 7 734.27 Kč

1746-055 Mounting bracket for Alarm panel for 1-3 press.switches (upwards 380.54 Kč

1746-065 Mountinp bracket for Alarm oanel for 1-3 oress.switches (side mour 363,37 Kč

7746-070 Alarmoanel kit 1 oressure switch 9-pin connector 9 924,96 Kč

7746-077 Kit Alarm panel for 1 press.switch 10 438'59 Kč

7746-07Z Kit Alarm panel for 2-3 press.switches 10 604,03 Kč

ql)



Příloha č. 1 - ceník k s-ti a 1o-ti leých revizí zhašecího zařizení Fogmaker

Číslo smlouvy objednatele: DPMoI2o22l7 ol041

7746-075 Kit Alarm z switches connector 9 600,25 Kč

1746-150 Loom Alarm for 1 switch connector 1 753,39 Kč

7746-757 Alarm for 1 switch z215,38Kč

Alarm nel for 2-3 switches

rm kit in dashboard of

2
1746-LSZ

s 033,s4
7747-0ZO-OO

7747-O20-ro kit mounted in without button 419!,26 Kč

7747-OZ0-72 kit in dashboa LZV

Alarm kit in dashboard of w. round

5 154,60 Kč

6 33 Kč
7747-OZO-40

1750-05 Buzzer 85 dB I48,2zKč

1750-051 for Buzzer 772,73 Kč

7769-r0 and Lens red I2x72 580,27 Kč

1770-O7 Low 24V for vehicle dashboard low lens

cou G

872,67Kč
1 19

1800-20

1800-30 kit tool and 2 Fil connectors 4244'56Kč

1800-L Filli tool for fire ression G model 13 988,11 Kč

1804-06 Hook knife 630,39 Kč

1805-030 kit for AMP rseal 41 016,21 Kč

1806-05 f. mod. of detection tube 5 148,64 Kč

1810-05 Fil station ro4a4z'27 Kč

1811-05 with hose kit 40 360,19 Kč

1813-10 Prefill Bulb for Hose kit for z340,92Kč

1821-01 Protection tool valve 689,25 Kč

7822-77-L 1/2" sleeve for 6092-xx service 1 265,58 Kč

1822-24 sleeve for 1 230,16 Kč

1825-20 for o-n M20 35zz,77 Kč.

1831-1000 Extinsuishant -35'C 1000 liters 588 207,31 Kč

1831-200 -35'C 200 liters 12zo25,72Kč

1930-178 Revision kit E accumulatoí 178 mm 9 244,62Kč

1931-178 Revision kit M accumulator 178 mm 3 401,10 Kč

7932-778 Revision kit HP single Piston accumulator 178 mm 3 866'78 Kč

1976-010 Pressure tool for detection 63 mm manometer 4 406,89 Kč

Tool for flushins of distribution system (fits to filling pump) z7977-lLO
2132-035 screw with SS and tem fuse hex 238,79 Kč

1 543,19 Kč
2403-zo3 Assémblv fittins/bracket 6,5 L+7,5 L- ALUMlNUM SHEET - MAN A21

Bracket double extinguisher 178 upper 1 644,53 Kč2440-L78
z44L-778 Bracket double Extinguisher 178 Lower 1 433,26 Kč

2449-O72 Bracket Kit for protection box volvo 160!, L7et. !!eH (11"!!)-- 12 611,50 Kč

2449,030 Plate kit fastening for box Volvo 1110H, 1120H 2784,97 Kč

2449-O40 for nter bus 832,91 Kč

2449-150-10 Bracket, 13-15 L Protection Box 1150H-180H HOOD 14794'76 Kč

2449-752 Bracket Standing 6,51 Protection Box and smaller 10 100,25 Kč

2449-t53 Bracket Standing 11,51 Protection(7.5 6,51) 12 690,03 Kč

2449-754 Bracket 8L Protection box 13,15 9 802,86 Kč

65 061,83 Kč
2709-DEMO board stand

271005-DEMO Demo board MFSS (comPlete) 46 073,85 Kč

3130-40 Fil 372.'92Kč

4008-077 less steel 8x770mm 226p1Kč

4008-115 Stainless steel 8x1150mm 237,72Kč

40380-08 detector tube translucid UL 352'79 Kč

4100-320-20 HP hose stainless z 610,79 Kč

4roo-47s hose 484,44Kč

4101-00 hose 440,56 Kč

4101-30 HP hose Com 498,73 Kč

4103-30 HP hose 0,80m 464,03 Kč

4105-20 HP hose Stainless steel 3 102,28 Kč

4LO6-20 HP hose stainless Steel z946,42Kč

4107-30 hose 378,30 Kč

4108-20 hose stainless steel 2 706,63 Kč

4109-042-30 HP hose Com 403,82 Kč

4109-130 HP hose m 802,87 Kč

4109-r75 HP hose 75m 939,29 Kč

4109-360 HP hose 3.6 m L932'34Kč

4I2Z-20 HP hose stainless steel 3 542,90 Kč

4123-20 hose Stainless steel 3 631'92 Kč

4726-20 HP hose stainless steel 2 815,84 Kč

4140-20 HP hose stainless Steel 3 910,88 Kč

4140-30 HP hose stra z323'23 Kč

4747-ZO HP hose Stainless Steel 3796'92Kč

4148-00 HP hose 591,95 Kč

4148-01 hose 487,85 Kč

4150-20 Stainless steelhose 2 711,05 Kč

70/2



Plíloha č' 1 _'Ceník k s_ti a 'lo_ti levch revizí zhašecího zařízení Fogmaker
Číslo smlouvy objednatele: DPMot2o22n orc41

4155-20 HP hose stainless 1,00m straight-90 3 117,06 Kč

4150-99 HP hose 5.0m 90-90 z772'47Kč
4773-20 HP hose 3.5m straisht-90 Stainless Steel 3 477'03Kč
4258-02 End plus, detection tube compact 133'02 Kč

4258-06 End plug compact with clamp, support sleeve and screw 296'37Kč
4300-010 T-connector 8xM14x8 438,52 Kč

4303-010 T-connector 1/4" UFxIRxUF 487,85 Kč

4307-78 Nipple 1/8 outside thread 38.44 Kč

4309-010 Straisht nipple 1/4" UFxIR 188,81 Kč

432s-010 Flush connector to 8L compression fitting swivel nut 575,28 Kč

4325-O71 Flush connector with 1/4" BSP ext. straisht th. and sealins 491,93 Kč

4325-O72 Flush connector M I6x2Ío 1/4" BSPT interior semi fabr 687,2oKč
4383-010 T-connector 1/4" UFxIRxUF Stainless Steel zI97,3sKč
4386-18 Sleeve 1/8" Stainless steel 769'76Kč
4400-10 Straight connecto r 7OxLl4" 123,15 Kč

4401-00 Eoual Tee 8x8x8 without olive/nut 192,89 Kč

4415-000 Schrader 1/8" lF brass complete with cap Io4,78Kč
44r5-OZ3 Schrader valve sasket for 4906-010 Green 41,84 Kč

4604-101 Connector 1/4" FxM Stainless steel for 1800-20 236,44Kč
4760-16 lnsulating sleeve 16 mm /m for protection against radiation heat fo s82'76 Kč

4761-00 Protection tape for fire protection hose 1 495,10 Kč

4757-13 Heaw dutv orotection hose ót3mm I274'05 Kč

476r-22 Heaw dutv orotection hose Ó22mm 1972,26Kč
4906-02s 7h6"-ZO UNF Schrader opener 2986,62Kč
501s-430908-A2 Washer 4,3/9/0,8 RF z,7zKč
5015-631250-A2 Spacer 6,3/12l5,0 SS 84'77Kč
5040-200 Nioole male 200 bar 500,77 Kč

5050-035 Plup.714" for the fillins nipple with temp fuse hex 336,46 Kč

5102-01 Clamp 180-200 26400 Kč

5105-178 Heavv dutv clamp for 178 mm piston accumulator 851.18 Kč

5109-178 Bracket detector cvlinder kit for 178 mm cvlinder 2 816,86 Kč

5200-06-016-42 Screw M6S M6x16 A2 23'47 Kč

5200-06-020 Screw M6X20 2,o4Kč
s200-05-020-A4 Screw M6X20 stainless steel 7 '48Kč
s200-06-030 Screw M6X30 M65 4,99 Kč

s200-08-020 Screw M8X20 4,63 Kč

s200-08-030 Screw M8 x 30 Hex Head M6S 6,72Kč
5200-08-030-44 Screw M8X30 stainless steel 19.39 Kč

5200-12-090 Screw M6S M12x90 12,05 Kč

5200-12-100 Screw M6S M12x100 14,00 Kč

5200-72-720 Screw M6S M72-I2O 15'55 Kč

5200-12-130 Screw M6S M12-130 17'88 Kč

5203-M3-16-42 Screw M3X16 Stainless 2'72Kč
5ZO3-M4-LZ-42-02 Screw M4X12 Stainless 2,04 Kč

5203-M4-6-42-01 Screw M4X6 Stainless 5,4/.Kč
5203-M5-10-44 Screw MSX10 Stainless 4'76Kč
5203-M5-16 Screw M5X16 lso 7380 Black 12.93 Kč

s205-095 Self-taopins screw RTS ST3.5x9.5, ISO 14585C, FZB 1,36 Kč

s209-12 Screw stainless steel M6X12 9,19 Kč

5210-08-02-01 Locknut M8 Black 5.10 Kč

5210-08-02-44 Locknut M8 stainless steel 77'76Kč
5215-06-01-44 Washer M6 6.4x12x1.6 stainless steel 1,56 Kč

5215-72 Washer M12 24xl3x2,5 FZB Din 125 3,92 Kč

s275-72-03 Bodv washer 12,5x35x3 4'28Kč
5222-44 Locknut M6 stainless steel 3,21 Kč

5246-20 Screw, Self tapping M6x20 5.45 Kč

5251-008 Allen Screw M5X8 Stainless 3'74Kč
5252-O7 Screw M5X20 SS Safetv screw for 609X-010 valve 8.16 Kč

5308-20 Brace/clamos 8/20 W4 57,83 Kč

5314-20 Brace/clamps 14/20W4 57,49 Kč

5322-ZO Brace/clamos 22/20W4 71,10 Kč

5334,20 Brace/clamps 34120 W4 97,30 Kč

s373-ZO Brace/clamos 73l20 W4 77L'72Kč
s392-010 Plastic cover to 6955 íoushbutton) reoair kit 77a,77 Kč

s399-03 Clip 3-7 mm 69'74 Kč

5s20-13 Membrane 13 mm 4,76Kč

5902-020 Safetv wire and screws, Rubberwasher for extinguisher valve 6092-l 607 '26Kč
5902-020-M Safetv wire and screws with masnet. for extinsuisher valve 6092-03 676.32Kč
5009-020 Micro switch kit Iz5z'28Kč
6009-030 Signal module - Kit for retrofit 1s74,79 Kč

6009-03s Cable harness Y-connection signal module pressure switch 405.86 Kč

77/Z



Příloha č. 'l - ceník k 5-ti a 1o-ti leých revizí zhašecího zařízení Fogmaker
Číslo smlouvy objednatele: DPMo l2022n ol 04'|

6009-036 Cable Harness Si in Serie 879'76Kč

6033M holder incl metron 5 218,99 Kč

6090-030 2 with I module 11 266,01 Kč

6091-030-M E 2 with module 14 885,87 Kč

5092-030 HP 2 with module 8 620,67 Kč

6200-040-02 Pressure 40 mm 0-40 bar 1 113,59 Kč

6200-51 rt PÍessure 40 mm 160 bar with 5605 1 325,08 Kč

6200-50160141 Pressure 63 mm 0-160 bar 1/4" conn. down 7 24z'o7 Kč

6200-6040141 Pressure 63 mm 0-40 bar " conn. down 1 265,88 Kč

6203-05 Pressure 23 mm 45 BAR Stainless steel 795,27 Kč

6205-01-90 Elbow for 40 mm 842,00 Kč

620s-02-90 Elbow for 23 mm detection bottle 677.00 Kč

7Z6205-03 for 23mm Manometer

6206-O2 ressure 6 mm connection for detection tube L-connector 1 056,66 Kč

6301-05 for 43,84 Kč

6309-00340-00 wtre hand m 665,40 Kč

6309-00600-00 wire with m 869,21 Kč

6309-007s0-00 wtre 75m 670,53 Kč

6309-02270-00 Activation wire 27m 840,03 Kč

64054-30 Seal Detector 4'28Kč

64056-25 Piston Mini ressor FSS 97,64Kč

6602-05 Pressure Switch 14 bar black cable with T-connector socket z994,78Kč

6602-08 ressure switch 14 bar UL 758z,z7 Kč

5503-05 Pressure Switch 5 bar red cable with T-connector socket connector 2 533,65 Kč

6603-06 Pressure Switch 5 bar red cable with T-connector pin connector 2857,97 Kč

6608-014 Pressure switch 14 Bar AMP-connector Mini FSS 2635,87 Kč

6608-080 Pressure switch 80 Bar AMP-connector 2zo9,94Kč

6620-040 Pressure Transmitter O-40 bar 7/16-20UNF 0l!!1441\/! !P9l!94 6 678,13 Kč

6620-160 Pressure Transmitter O-160 bar G1l8 0.5-9 5V AMP Superseal 7 474'38Kč

6722-02 Plus & Plav Electronic unit buss alarm 4156,22Kč

6823-09 Connectors kit for piston accumulator 64L,62Kč

5830-01-100 Plue & Play Extension cable AMP 2 tabs - 1000mm 499'07 Kč

6830-01-200 Plus & Plav Extension cable AMP 2 tabs - 2000mm 619,84 Kč

6830-01-50 Plus & Plav Extension cable AMP 2 tabs - 500mm 477,86Kč

6830-01-500 Plug & Play Extension cable AMP 2 tabs - 5000mm 1 101,91 Kč

6830-03-100 Plus & Plav Extension cable Molex 6 tabs - 1000mm 420'49 Kč

6830-03-200 Plus & Plav Extension cable Molex 6 tabs - 2000mm 620,52Kč

6830-03-500 Plue & Play Extension cable Molex 6 tabs - 5000mm 1 201,93 Kč

6903-28 Flat pin connector 1,5-2,5 insulated 2,8mm to 6992 11,23 Kč

5904-08-01 crimo rins terminal insulated M8 red 0.26-1.65 mm'z zz'94Kč

6909-0 Jointing sleeve 1,5 mm2 uninsulated L=14mm 17,01 Kč

6909-1 tointing sleeve 1.5-2.5 mm'zblue 27,99 Kč

6909-k lointins sleeve 0.5-1.5 mm2 red 49'67 Kč

695610-01 Connection box 110x110x65 lP65 1 967,38 Kč

6970-05 Pushbutton red/vellow lieht IZl2a V 1 021,28 Kč

5970-1 SWF rocker switch with test button disc 6972 included) 785,86 Kč

6979-0s Green lndicator 24V 361.97 Kč

6981-04 Connector 4 tabs 47'97 Kč

6982-04 Connector 4 receptacles 45,93 Kč

6987-01 Wire seal for 6981-6986 1.8-2.4 mm Yellow 1,70 Kč

6987-O2 seal for 6981-6986 7.4-7.7 mm Green 1,70 Kč

6988-02 f or 6981-6983-6985 ZO-ZZ mm2 10,55 Kč

6989-02 Contact for 6982-6984-6986 20-22 AWG/0.3-0.6 mm'z 73,27 Kč

6999-002 Kit Push button Fire for electric actuator ENG 9 323,18 Kč

7015-005 Novec 0.8 lite bottled 6752'97 Kč

7015-010 Novec 1.6 bottled 10 153,27 Kč

7036-200 Detector uid red -45'C 200 liter 144 584,15 Kč

7100-01 nt Concentrate 0'C 0.75 liter 3 224'42 Kč

7100-05 Extinsuishant Concentrate 0'C 5 liter 7 563,21 Kč

7900-1000 oil Dow 200 1 z298,73 Kč

7900-2s0 oil Dow Corn 200 0.25 732,45 Kč

7910-01 a5 with BSP connection 30 258,24 Kč

80s0-01-001 Brochure bus SWE 118,39 Kč

8050-01-002 Brochure bus ENG 118,39 Kč

8050-01-003 Brochure bus DEU 118,39 Kč

8050-01-006 Brochure bus FRA 118,39 Kč

8050-01-007 bus ESP 118,39 Kč

8050-03-002 Material ENG 118'39 Kč

8050-03-003 Brochure Material DEU 118,39 Kč

8050-04-001 Brochure machines SWE 118,39 Kč

8050-04-002 Brochure M machines ENG 118,39 Kč

72/2



Piíloha č. 1 _beník k s-ti a 'ío_ti leých revizí zhašecího zařízení Fogmaker
Číslo smlouvy ob.iednatele: DPMjt2o22t7oro41

8050-04-007 Brochure Mining machines ESP 118,39 Kč

8050-05-001 Brochure forestrv SWE 118,39 Kč

8050-05-002 Brochure forestry ENG 118.39 Kč

8050-05-007 Brochure forestry ESP 118,39 Kč

80s0-06-002 Brochure Airoort machinerv ENG 118,39 Kč

8050-06-003 Brochure Airoort machinerv DEU 118,39 Kč

8050-07-001 Brochure Motor sport FIA SE 118.39 Kč

8050-08-001 Brochure Agriculture SWE 144,93 Kč

80s0-08-002 Brochure Asriculture ENG 744'93 Kč

80s0-08-003 Brochure Asriculture DEU 7M,93Kč
8050-09-002 Brochure Electrical vehicles (EV) ENG 215,69 Kč

8050-09-003 Brochure Electrical vehicles (EV) DEU 215'69 Kč

8050-10-001 Brochure After market Service SWE 199,70 Kč

80s0-10-002 Brochure After market Service ENG 799'7oKč
8050-10-003 Brochure After market Service DEU 199,70 Kč

8051-001 Brochure Fosmaker seneral SE 235,34 Kč

80s1-002 Brochure Fosmaker general EN 235,34 Kč

8051-003 Brochure Fogmaker general DE 260.93 Kč

8100-015 Label Piston accumulator Serial no. POR 4s,z5 Kč

8100-02 Label/sticker Densitv extinpuishins fluid ENG 46,27 Kč

8100-4 Label Piston accumulator Serial no Robotic cell EN 73,82Kč
8100-FtA Label FIA Piston accumulator Serial no. ENG 38,44 Kč

8104-015 Label Piston accumulator/Protection box -Warning POR 95.26 Kč

8105-01 Label for handheld extinguisher Year marker Annual control 74'29 Kč

8106-02 Label for 8100-FlA Marker freeze ooint extinsuishant FIA AR 17 'gzKč,
8108-02 Label "FFS Novec bottle" ENG 69,74Kč
8111-001 Label/Sticker "Annual control" SWE 64,98 Kč

8111-002 Label/Sticker "Annual control" ENG 80.63 Kč

8111-003 Label/sticker "Annual control" DEU 80,63 Kč

8111-006 Label/Sticker "Annual control" FRA 80,63 Kč

811 1-010 Label/Sticker "Annual control" NOR 80,63 Kč

8120-01 Label for Hvdro-pneum. detector bottle ENG 37.42Kč
8120-01-01 Label for Hvdro-oneum. detector bottle AIR ENG 38,10 Kč

8120-01-015 Label for Hvdro-oneum. detector bottle PoR 91,85 Kč

8201-01 Label/sticker Actuator swE 42,53 Kč

8201-02 Label/sticker Actuator ENG 42.53 Kč

8205-01 Label/sticker "Fire alarm" SWE 22'79 Kč

8205-015 Label/Sticker "Fire alarm" POR 7'39 Kč

8205-02 Label/Sticker "Fire alarm" ENG 22,79 Kč

8205-023 Label/Sticker "Fire alarm" GRE 31.98 Kč

8205-03 Label/Sticker "Fire alarm" DEU 52,88 Kč

8207-015 Label "Warnins contains gas" ENG-POR+all languages 91,85 Kč

8227-O7 Plate "Activation of engine sprinkler system" ENG t58,19 Kč

a225-O7 Sticker Hand extinpuisher Service 10-vear SWE 31,10 Kč

8301-002 Plate "ln case of fire" Mec ENG 107,50 Kč

8301-003 Plate "ln case of fire" Mec DEU 155,81 Kč

8301-007 Plate "ln case offire" Mec ESP 155,81 Kč

8301-009 Plate "ln case of fire" Mec FIN 200.38 Kč

8301-010 Plate "ln case of fire" Mec NOR 410,62 Kč

8306-002 Sisn ln Case Of Fire Auto ENG 107,50 Kč

8306-003 Sien ln Case Of Fire Auto DEU 268'42Kč
8306-005 Sisn ln Case Of Fire Auto ITA 429,67 Kč

8306-006 Sign ln Case Of Fire Auto FRA 268'42Kč
8306-007 Sign ln Case Of Fire Auto ESP 155,81 Kč

8306-009 SiPn ln Case Of Fire Auto FIN 207,86 Kč

8306-010 Plate "ln case of fire" Auto NOR 429,67 Kč

8306-011 Sisn ln Case Of Fire Auto TUR 572'90 Kč

8306-020 Sisn ln Case Of Fire Auto UZB 682,02Kč
8315-10 Plate "FoRmaker Test" 324'27Kč
8427-OOZ Label/Sticker "Drivers info" ENG 103'08 Kč

8427-OO4 Label/Sticker "Drivers info" NLD 125,87 Kč

8421-009 Label/Sticker "Drivers info" FIN 171,80 Kč

8422-OO9 Label/Sticker "ln case of fire" Auto FIN 47 '97 Kč

8430-007 Label/Sticker "ln case of fire" Auto ESP 34,02Kč
8430-011 Label/Sticker "ln case of fire" Auto TUR 47,97 Kč

8434-001 Label/Sticker orivers manual vehicle Auto SWE 108,18 Kč

8470-001 Sticker "This ensine room is orotected" Domedecal SWE 69,40 Kč

8470-OOZ Sticker "This enqine room is orotected" Domedecal ENG b9,40 Kč

8470-003 Sticker "This engine room is protected" Domedecal DEU 69,40 Kč

8470-005 Sticker "This engine room is protected" Domedecal ITA 69,40 Kč

8470-OO7 Sticker "This ensine room is orotected" Domedecal ESP 69,40 Kč

73/2



Pří|oha č. 'l - ceník k 5-ti a 1o-ti letých revizí zhašecího zařízení Fogmaker
Číslo smlouvy objednatele: DPvol2ozzn olo4'|

8470-009 sticker "This ensine room is protected" Domedecal FIN 76,55 Kč

8470-010 Sticker "This engine room is protected" Domedecal NOR 69,40 Kč

a470-oz3 Sticker "This engine room is Domedecal GRE 39,66 Kč

8477-OOL Sticker "Fosmaker" SWE 812,74Kč

8477-OO2 Sticker "Fosmaker" ENG 813.76 Kč

8471-003 Sticker "Fogmaker" DEU 812'74Kč

s4tr-oo7 Sticker "Fogmaker" ESP 872,74Kč

1192-02-030-R107 Piston accumulator 9,51 Rt07 HP/Ps/Sig. mod' Temp fuse 178 mm 46 518'95 Kč

7412


